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Note: Answer any FIYE full questions, ch-ffi ONE full question f,fffiuch module.
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a. Explain with neat sketches, Fi n. (08 Marks)
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li?.##fi , Availability and Work in
'i:,i,t (08 Marks)

a. Differentiate between:

b. Explain General c
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b. Explain the Retrieval tWlS#
block diagram. ,=':J'r,,

b.-.h.new product rs to-te-asb€mUied in a plp-ai Oaia

. ' 'element Times. UsinE Lareest Candidate tule method.Uqinrg Largest Candidate

Explain -Cdmphter Aided Design proces.s, with neat diagram.
Explaiuthffi nctions of Graphics 

"Pac. 
kage.
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(08 Marks)
(08 Marks)

(08 Marks)

for milling
(08 Marks)
(08 Marks)

block diagram. (08 Marks)

(08 Marks)

a. Explhifl*the following terdi$rinl{ine balancing : i) Minimum Rational work element
ii) .,Precedence diagr4pr'.' i; Cycle tirne iv) Balance delay. (08 Marks)
A-.new product is to be asstimbled in a plaat'l{he data gives the precedence relationship and

.;i) Construct pnecedence diagram.
ii) If the cycle time is l.5min. what is t

.*"ry: , Module-4
Explain the lilsddinental steps involved in the development of part program
operatrons. 

_u

State thedvhntages, disadvantages and applications of CNC machine tools.
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ii) If the cy$le,tifie is 1.Smin, wfuaf* the minimum number of work station required?
iir) Calculate& balance delay,"[p,1

7a.

b.



OR
Explain the basic configuration of Industrial Ro
Explain the following with reference to Precis

i) Control Resolution ii)
iir) Accuracy w)

:&
id, 3&$'

"e;; 
+d'W

.#w

tth neat sketches.

15M862

(08 Marks)

(08 Marks)

(0E Marks)
(08 Marks)

(0E Marks)
(08 Marks)

MffirftL5;".ffi M;T

,s9 a. Explain the different states involve4u&{r ffif process.

b. Explain with the neat sketch Shffi@ination process. JkAk- .rKYru &fl' fl-"]qM.re' OR L?;o"l
u"Qd ^- -- . . ".r!&'etsUa - - ".c

10 a. Define IOT. Explain the apfhQpion of IOT in manufactryine.
b. Explain how Big data a&pffiSd cornputing can sum[& IOT.
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